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Objectives:

Recognize angle conditions that occur with parallel lines.
Prove that two lines are parallel based on given angle relationships.

Converse of Corresponding Angles Postulate

Parallel Postulate

If two lines are cut by a transversal so that
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If given a line and a point not on that line, there
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exists exactly line through the point that
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P
- > M
145

Y

e
-

Alternate Exterior Angles Converse

Consecutive Interior Angles Converse

If two lines are cut by a transversal so that a pair of
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Alternate Interior Angles Converse Perpendicular Transversal Converse
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Practice: Would the following information make any two pairs of lines parallei?
If yes, then which lines are paraliel and why?
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mse + méé +ms8 = 180°
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11.ms1 = 90° and m<8 = 90°




Skills Practice

Proving Lines Parallel

Given the folowing information, determine which lines,
if any, are parallel. State the postulate or theorem that
justifies your answer.
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Find x so that.£ | m. Show your work.
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